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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence, Then mark the correct choice on Your answer sheet.

11-
12-

13-
14-
15-

What was intended as a peaceful demonstration rapidly -—-—--—-- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
The Democratic Party --—--—- 70 percent of the vote,

1) garnered 2) esteemed 3) obligated 4) assembled
Some animals can —---——- very high temperatures.

1) detach 2) submit 3) obstruct 4} withstand

Researchers have discovered that up to one half of all children born of alcoholics are
genetically -------—- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important -———-——- to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major --—------ for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is 2 common ----—-- that women are worse drivers than men,

1} essence 2) impetus 3) fallacy 4) amusement
The --—--—-- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be ------—- to the seriousness of the crime,

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to -----—-— economic growth.

1) sustained 2} congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. 1t was constituted by the Statute of Westminster,
@ ) IE— the British Dominions were recognized as ‘autonomous communities’, (12) -------
the British Crown. Since 1947, when India chose (13) ——emmme- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ~--—- a total of fifty-three member states, is confined
[ 5] e — head of the Commonwealth. Given that its member states have little in common
apart from a historical tic to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

)so 2) which 3) so that 4) in which

1) binding together 2} bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1} by 2y out of 3) within 4) outside

1) for 2y to who is 3) to that of 4) that she is
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Part C. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

PASSAGE 1:

Over the years the relationship between employer and employee has changed from master
and servant to one of employer and employee. Earlier it was a one-sided relationship will
employer wielding absolute power to hire and fire employees.

Gradually government and unions intervened to prevent one-sided exploitation by the
employer and to wield countervailing power over them. Today the relationship between
employer and employee is contractual, reciprocal and mutual. The employee has certain rights
and obligations and so does the employer. While the laws, courts and unions have, over the
years, limited the rights of management, the rights of employees have been preserved and
furthered by managerial indiscretions, laws, courts and unions.

The obligations of the employer are relatively precise and specific whereas those of the
employees are imprecise and elastic. The substantive terms of the contract of employment
prescribe wages, hours, holidays, etc. in definitive terms. But the obligations of the employee to
provide an honest, efficient and faithful service and to obey orders are not easily measurable
and therefore application of sanctions against workers for non-fulfilment of obligations often
becomes difficult. Also managerial authority and power needs to be accepted by the
subordinates. Tolerance to non acceptance of managerial arbitrariness in the exercise of
managerial authority can cause further problems.

In any case, in the employment relationship employees expectations become employer’s
responsibilities and employer’s expectations become employees’ responsibilities. So, there is
bound to be certain area of friction or dissatisfaction where either party is not able to live up to
the other’s expectations.

According to the passage, defining the obligations of the employee is not easy, because:

1) They are not measurable 2) They are employers’ expectations
3) They are not accepted by employer 4) They are not limited and contractual
According to the passage, “obligations™ means:

1) tasks 2y rules 3) laws 4) duties

The passage implies that:

1) one of the employer’s rights is job security

2) the obligations of the employees are flexible

3) the employee’s expectations are the same as employer’s expectations

4) the relationship between employee and employer is like the servant and master yet
According to the passage, “Subordinates” related to:

1) laws 2) courts 3) employees 4) employers
What is the best title for the passage?
1) The contract of employment 2) Nature of the employment relationship

3) The rights of the employer and employee 4} The obligations of the employer and employee
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PASSAGE 2:

The operations function is performed by that group of persons in a business who
are responsible for producing the goods or providing the services that the busi-
ness offers to the public. The operations function, also called the production
function, is one of three primary functions within a business, the other two being
finance and marketing. But in a typical business, it is the operations function
that employs the greatest number of people and is responsible for the greatest
portion of the firm’s controllable assets. You can quickly see, then, that oper-
ations is a very important function and certainly worthy of study. Our purpose
in this text is to study the various activities that take place in the operations
function, the factors that influence the operations function, and the actions that
are required to manage this function well.

For a few moments imagine what life would be like if there were no or-
ganized groups other than the family unit to provide goods or services. Each
family would have to build its own home. Most family members would have
to work to raise food with whatever crude implements they could fashion for
themselves. Transportation would be limited: people would have to travel by
horseback or in horse-drawn carts, on rafts or simple boats, or on their own
two feet. Communication would be limited to word of mouth or letters carried
by someone who happened to be going to the desired destination. Heating the

home and cooking would require many hours of cutting wood. The activities
required to obtain the necessities of life would consume so much time that great
composers, artists, surgeons, and inventors would have little opportunity to
develop. None of the advances in medicine, communications, law, and trans-
portation that we have today would exist. There would be no cities, and rural
life would be very different from what we know today.

Fortunately, the world today is quite unlike the one described above. Many
organizations produce goods and provide services for us to use. The increased
skills, efficiency, and productivity that are achieved within these organizations
are much greater than individuals could achieve by working alone. Even though
we sometimes think the things they produce are not as well made as we would
like them to be, we must admit that they are better than we could make for
ourselves in the amount of time required to earn what we pay for them. We
not only have more and better goods and services than we could produce our-
selves, we have more leisure time to enjoy books, television programs, concerts,
travel, ball games, and so on. We profit from exposure to broader expanses of
the world, have better health care, and enjoy more material wealth because
there are businesses that provide us with goods and services.

In the old ages the communications:

1) were alike letters 2) were not important
3) were very important like today 4) were limited as compare with todays

“We have more leisure time to enjoy books” etc means that:
1) we have enough time to spent

2) leisure time is valuable time

3) you should enjoy by reading and watching

4) the time when you are not working or studying just enjoying

This passage emphasizes that now days information is:

1) a profit 2} a good wealth
3} some kinds of resources 4) valuable assets
This passage deals with:

1} how the world changes

2) why we need operations functions

3) the communications which is important today

4) the world today is completly different from the old days
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The primary functions within a business are:

1) finance, marketing a production 2) inventory, sales in finance

3) production control, invest a marketing 4) producing goods, finance marketing

The company insists that all their products are --————- in respect of their quality,
specification and look.

1) actual 2} identity 3) typical 4) uniform

If for any reason customers do not like the item have bought, they always ——-— and get
a refund.

1) hold it back 2) take it back 3} keep it back 4} give it back

The advantages of working for this company is that all employees -—-——-— themselves as a
member of the team.

1) believe 2) think 3) perceive 4) hold

The primary --------- of project management is to achieve all of the project goals and
objectives while honoring the preconceived project ---—-—-—- . Typical constraints are scope,
time, and budget.

1) challenge — constraints 2) object — limitations

3) intention — goals 4) issue — aims

Development plan document will contain a number of ---------- to control the development
and use of land, and will set out the design -—--——----- and criteria against which planning
applications will be considered.

1) cases — polices 2) 1ssues — affairs

3) policies — standards 4) standards — issues
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b+% (A+D)/(B+CH2.0/X+Y/2.0)+1) @

X+y (A+1/(B+CI200/(X+Y)/2.0+1) (v
2

(A+1)/(B+C/2.00(X+Y)/2.0+1) (¢

A+1/AB+C/2.00/(X+Y)/20+1) ¢
az acbipp) opl 3 oS p slade 03,8 JLaxt YAFSY pIp M osf,T b »; FORTRAN sy a5  Joge 0

$34s ublgs
SUBROUTING P(M,N)
N=0 12569 (v
DO WHILE (M.GT.0) 18540 (v

N=N * 10 + MOD (M,10)

M=M/10 15692 ¢
END DO 96521 ¢
RETURN
END

St anlys by (5)lake 4z 03,5 )las! PRINT # P(10,P(10,7)) p i P st ,SIFORTRAN ;b5 5
INTEGER FUNCTION P(M,N) =70
IF (M.GT.N) THEN 7r

P=M+N 0
RETURN @
ELSE 27 ¢¢
P=M-N
RETURN
END IF
END ¢34 ualys a3 3 FORTRAN ol 29,5 S oo aolinul gume Shae! (ghp Gl sl 51 45 57 9apal8 5
PROGRAN NOI1 o0
N =1236419
M=5 B (Y
DO 2 I=1,10,1 AN
K = MOD (N,10) . (f
N=N/10
IF (1. EQ.M) THEN
PRINT * K
STOP
END TF
2 CONTINUE
END

-AF

-A0

48

-1y

auMJ&SGoWQ)Pq,oﬁjdbélﬁl.&y251,;5)54c..,:a,c.,:;.oaudq_M Sl ol e -AA

F s J,l
I:=2;
While Mmod I << 0do 1:=1+1;

il M pls ] olaas I (€ [=M I1>Mr <M


http://www.ieun.ir/
www.ieun.ir
www.ieun.ir

AN adpy g (F) FigweolS ans gikoli

S22 b il s sl yaice [ g s Vo Johy Glidy pite Su S g 5T puite o Ch S Sl ol 00 -4

fogs dlas azr § dkico yludin p 3 Ol jg5w

i':=:]; S azs, ,och wS1 slaw 1 aes S ()
j=10; . }
while (S[i] <>ch) and (i <= 20) do 3 ) o ch SIS o (f
begin S«:_L))ach,:_ﬂ)lfol.usj)u.ﬁé(\”
i:=i+1; Sd_:_w)).)ch)'l)_..c)...sblgd]hhj(f
i=jt+1;
end;

a2lgs dy M i glaaza B23 ools cdl ;0 g pj JWwls aoliy 532 (glpml b 200 )15 4 ASCIL oS af g iguuals ;5 —Yeo

?05.3
m:f 0; 117 ¢
while not EOLN( ) do 811
begin .
Read(x); sl
case x of 2831

"A'VFimi=m*16+ ORD(x) - ORD('A")+10;
'0'..'9":m :=m=*16 + ORD(x) - ORD('0');
end;
end; .

o9 wales (5 Mo 4z g9lo A yuise ) jemmed Sl b JISly b 50 -1
A:=5*3mod 4div2*3+5/2

5 qf 17 ¢ 5.5 17.5 ¢

Yoz p3F 2 ol s JISuly 5bj 50 -1
function f(a : integer): boolean; o )5 o ITUE ke 48 5 falSE e 0l Jgl sac @ 8101
var
J: integer; il T e false Jaie 48 strue oo sl LS saca SH(Y
begin
J:=2;
f:=false;
while J <a do
if (amod J) =0 Then

il 5 e fAlSE ke a8 g true Jags asl Jo saca S1qr
W35 oo fAlSE Jaie i 3 gtrue jlage sl zg;a (T

begin
f := true; break;
end;
else
J=J+1;

end;
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S:=0;

, X XYA-X‘~ xf+ O
Ji=1; . " et
for i:=1 to n do X X X

) X——+———+... (¥

begin v v ¢

S:=S+J*exp(i*In(x))/i x' oxT X'
p(i*In(x)/i; X+ — (Y

Ji==d Y v f

end; \’)(Y \"Xr \‘xf
X—— 4 ————— 4. (Ff

fuls o oyl ) £ 4ol o 5l 2! M)f plas Sbm <n oS a0 Juawly by e -1-¥
Procedure P(m , n : integer);

Var S8 ol nbm o zgyolaclads yn,m Q)
i: integer; 25,5 ool G M 58 Slas! 4 IS (Y
begilfnm <n then 20,5 o Dl N EM o 7y slael a8 (¥
for i:=m fton do 838 ool M yolasl al8 (F
if not (odd (i)) then
writeln (i);
end;

famnr € by @ paelp 29,5 -10
# include <stdio.h>

void sub (int x, int y) aolin & lyr e Wlosss Jinie e asliy 4y oyl L polie ()
{x=4;y=23; return( );} R Y B I
main () g g0 ol 4 3 oo a e (7
{inta=3,b=4; Sahei ol G e s S eip (gl TELUTTL () (7
sub {a,b) Sed s ol 3 4 oo a0 o> (F

printf (“\n %d \t %d”, a, b);
return (0);

h

Cams oo planil )0 az pjaobip sy £ U5 0 -VF
float a[100], ¢;

int i, low, high;
low = 0; high = 99;
while (low <= high) {i = (low + high) / 2;
if (t<ali]) high=1i-1;
else if (t > a [i]) low =i +1;
else printf (*%d”, i);

ln LTy el ks 50 il &l T 5o t 1 o (¥
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int a [100][100], t, i, j;
for (i=0; i < 100; i++)
for (j =0; j <100; j++)
{t=ali] [jl:
a [i] [jl=a (jl [il:
}a il [i] = t;

void sub (int s [ ], int n)
{inti, j, t;
for(i=n-1;i>0;i—-)
for j=0;j<i;j++)
if(s[jl>s[j+1D

{t=s[jlsslil=s+1ls[j+1] =t}

return;

int a =1;
for (53)
fa=a+2;
if (a < 10) continue;
a=a+3;
if (a > 20) break;
}

int f (int n)
{staticm=1;
return m+=n+ 2;
}
# include < stdio.h >
main ()
fint i;

for(i=1;i<=5;i=i+2)

printf (“%i”, f (i));
return (;
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